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#include <stdio.h>

int main(void)

{
3 + 4;
return 9;
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#include <stdio.h> N
int num;
int main(void) - int : B39 HES AT HIZel
{ Ao B
J
num = 20; p N
printf("%d\n", num); --_Lnum = 20;
: - B4 num S2H01 202 ME

return ©; ~ num 2240 202 X )

}

printf("%d\n", num);

- B num

Do}

o

—

9| 20 &EX

Seungjae Baek



-

H 2~ A O

— T

Al

——

#include <stdio.h>

int main(void)
{
int numl;
int num2;
numl = O;
num2 = 0;
return 9;

-

#include <stdio.h>

int main(void)

{

int numl;
numl = O;
int num2;
num2 = O;
return 0;
}
2Q
Mietol sl &
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int numl;
int num2;
int Sum;
int CountOfBook;

BN )2 #4A
ﬁ% At 22 (ex: num Ut Num=2 CHE 8 =)
2 A2 AIEE =80, IFEE BHS0

10| Lt 0

int 5Dogs;

int phone#;

int Count Of Book;
int int;
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#include <stdio.h>

int main(void)

{
int numl, num2;
int num3=30, num4=40;
printf("numl: %d, num2: %d \n", numl, num2);
numl=10;
num2=20;
printf("numl: %d, num2: %d \n", numl, num2);
printf("num3: %d, num4: %d \n", num3, num4);
return 0;

}

v int num1, num2;
= B MHO (gt EYS e -0 BR2
=, S 080l = 0l B+ & Jbs
v int num3=30, num4=40;
= AN SAIN =I5
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short numl = 30;
int num2 = 30;
long num3 = 30;

float datal = 3.14;

double data2 = 3.14; /
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s S A& Ol Xl — update 1

#include <stdio.h>
int main(void)
{
int numl = 3;
int num2 = 4;
int result = numl + num2;
printf("Add result: %d \n", result);
printf("%d + %d = %d \n", numl, num2, result);
printf("Sum of %d and %d is %d.\n", numl, num2, result);
return 9;
}
Results
Add result: 7
3+4 =7

Sum of 3 and 4 is 7.
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Results

6

4 + 2

Plus

Minus

4/ 2 =2
4 X 2

Divide

= 8

Multiply
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C A2 E= I|2 E(Keyword) °

s J|¥E (keyword)

v CAHNZ 8= A#dote 20

auto break case char
const continue default do
double else enum extern
float for goto if

int long register return
short signed sizeof static
struct switch typedef union
unsigned void volitile while
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2t S8 HAHE =c] He S

bh= A LI} (Arithmetic Operators)
2t H A &L (Relational Operators)
=cl| H &R (Logical Operators)
HIE H &KX (Bitwise Operators)
CHe A &EX (Assignment Operators)
JIEF A &KL (Misc Operators)
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s (HE HALALSE b= H AL

(Assignment and Arithmetic Operators)
v 0lgh AL

= CMXO QEE MUAMKE AS THARNH S

+ S OAKE HEh

) 2AZ MMTINAN Q= T AKIS BT

* S HAXIE ZEICH

/ A% MUMKE QEZ DHARR L=l

% ~ EMOMNES QEX MAANZR LI+AS O LK 2t

C=A+B

A+B2l gt= CUIH £¢

A+B2| gf= 30
A-B2| gf2 -10
A*B2 &2 200
B/A2| gt& 2
B%AZ2| gt& 0
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s S A& Ol Xl — update 1

#include <stdio.h>
int main(void)
{
int numl=9, num2=2;
printf("%d + %d = %d \n", numl, num2, numl+num2);
printf("%d — %d = %d \n", numl, num2, numl-num2);
printf("%d X %d = %d \n", numl, num2, numl*num2);
printf("%quotient of %d —~ %d =2%d \n", numl, num2, numl/num2);
printf("remainder of %d ~ %d = %d \n", numl, num2, numl%num2);
return 0;
}
Results
9 + 2 =11
9 — 2 =7
9 X 2 = 18
quotient of 9 =~ 2 =4
remainder of 9 = 2 =1
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=g W HALA (Assignment Operators)

+= a=a+b a+=b
-= a=a-b a-=
*= a=a’b a'=b
/= a=alb al=b
%= a=a%b a%=>b
)

#include <stdio.h>
int main(void)

{

int numl=2, num2=4, num3=6;

numl += 3;
num2 *= 4;
num3 %= 5;

// numl
// num2
// num3

printf("Result: %d, %d,

return 0;

numl + 3;
num2 * 4;
num3 % 5;

%d \n", numl, num2, num3);

Results

Result: 5, 16, 1
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#include <stdio.h>
nt .  d —
?n main(void) //J,numl = -numl; // F=2
__ . =2 51 ol
int numl = +2; —— nhuml -= numl; // =€ CH &
int num2 = -4;
numl = -numl; R
printf("numl: %d \n", numl); AUGZ == UL, ;;fi o
printf("num2: %d \n", num2);
return 0;
}
Results
numl: -2
num2: 4
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A+ (Arithmetic Operators)
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S, &4 AL (Arithmetic Operators)

v Ol Al 1

#include <stdio.h>
int main(void)

{

int numl=12;
int num2=12;

printf("numl: %d \n", numl);
printf("numl++: %d \n", numl++);
printf("numl: %d \n\n", numl);

printf("num2: %d \n", num2);
printf("++num2: %d \n", ++num2);
printf("num2: %d \n", num2);
return 0;

Results

numl: 12
numl++: 12
numl: 13

num2: 12
++num2: 13
num2: 13
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S, &4 AL (Arithmetic Operators)

v Al 2

#include <stdio.h>
int main(void)

{
int numl=10;
~| int num2=(numl--)+2;

printf("numl: %d \n", numl);
printf("num2: %d \n", num2);
return 0;

Results

Q: HAH N

U0

numl: 9
num2: 12

CHHE = £E0oHAI L.
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24 A ALK (Relational Operators)

oF ALK} oo of

== S OIAHAAKXC 2H0| 22X H| W (A==B) is not true
Z2 O™ true, Ct= ™ false

= S AR gH0| THE K| B W (A!=B) is ture
Ct2 ™ true, 2 2™ false

> 2Z LA LERE B 2K &0l (A>B) is not ture
™ true, &2 H false

< 22 LRI B0 &2 &9l (A<B) is ture
& O ™ true, 3™ false

>= 22 UAIES EU AU Z24A &2l (A>=B) is not ture
AHUL 22 ™ true, &2 H false

<= 2E AN LES 20 HU 22K &2 (A<=B) s ture
AL 22 ™ true, 21 A false

/ 0ll) A=3; B=4; (A==B)?

I Seungjae Baek



O A A JH (10/15)

22

s 2 A AL} (Relational Operators)

v Ol Al

#include <stdio.h>

int main(void)

{
int numl=10;
int num2=12;
int resultl, result2, result3;
resultl=(numl==num2);
result2=(numl<=num2);
result3=(numl>num2);
printf("resultl: %d \n", resultl);
printf("result2: %d \n", result2);
printf("result3: %d \n", result3);
return 0;

}

Results

resultl: ©
result2: 1
result3: ©
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[

2| A ¢HAF (Logical Operators)

&
=c| AND
I AAMX S I 25 00] OrY [ true

=cl OR
I A4&HA = S0l ofLEEH00] OFLIH ture

=cl NOT
O A&Xe =2l &EiE Bt = B &

Odl
(A&&B) is false

(A||B) is ture

IA is false
I(A&&B) is ?

v O)A=1,B =0, (A&&B)?
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=c| A &R (Logical Operators)
v Odl Al

#include <stdio.h>

int main(void)
{
int numl=10;
int num2=12;
int resultl, result2, result3;

resultl
result2

‘ result3

printf("resultl: %d \n", resultl);
printf("result2: %d \n", result2);
printf("result3: %d \n", result3);
return 0;

(numl==10 && num2==12);
(num1<12 || num2>12);
(!'numl);

Results

resultl: 1
result2: 1
result3: ©
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== X A

= 0F HAEAL ()
v = 0ldeBHeE =
v = 0l&e =&8= ¢t
v = 0l&2 QIAE &
#include <stdio.h>
int main(void)
{
int numl=1, num2=2;
numl++, num2++;
return 0;
}

printf("Hello "), printf("world! \n");

printf("%d ", numl), printf("%d ", num2), printf("\n");

Results

Hello world!
2 3
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AL O
s ALAS R4 =9
o AFXE &9 Zg e
() &+ S & (Parentheses)
[] ISl A (Brackets — array subscript)
. A& XIS (Member selection via object name) left-to-right
-> 2+ X1 & (Member selection via pointer)
++ - =2 S+, &4 (Postfix increment/decrement)
++ - ML EIt, 24 (Prefix increment/decrement)
+- 23S Hat - S, 2= (Unary plus/minus)
I~ =cl NOT/ HBIE &< NOT (Logical negation/bitwise complement)
(type) A28 B8 (Cast) (convert value to temporary value of type) right-to-left
* HE X E A4 (Dereference)
& = A4 (Address) (of operand)
sizeof HIOIE &2 3| Hl4F (Determine size in bytes on this implementation)
* | % A= A AF (Multiplication/division/modulus) left-to-right
+ - Ab= oA A (Addition/subtraction) left-to-right
<< >> HI E Ol = (Bitwise shift left, Bitwise shift right) left-to-right
< <= 2 H A A&HXE (Relational less than/less than or equal to) left-to-right
> >= 2| A&} (Relational greater than/greater than or equal to)
== I= 2 H o AT (Relational is equal to/is not equal to) left-to-right
& HIE &4t (Bitwise AND) left-to-right
A HIE & &t (Bitwise exclusive OR) left-to-right
| HIE ™ 4t (Bitwise inclusive OR) left-to-right
&& =c| A4t (Logical AND) left-to-right
| =cl| &4k (Logical OR) left-to-right
?: 2 A& (Ternary conditional) right-to-left
= CHel o &t (Assignment)
+= -= Addition/subtraction assignment
*= |= Multiplication/division assignment right-to-left
Y%= &= Modulus/bitwise AND assignment
A= = Bitwise exclusive/inclusive OR assignment
<<= >>= |Bitwise shift left/right assignment
, Comma (separate expressions) left-to-right
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= SimpleAddTwo T 2 12 (PPT. 10)

#include <stdio.h>

int main(void)

{
int numl = 3;
int num2 = 4;
int result = numl + num2;
printf("Add result: %d \n", result);
printf("%d + %d = %d \n", numl, num2, result);
printf("Sum of %d and %d is %d.\n", numl, num2, result);
return 0;

}

Q: 0l T2 O SHES 2SAANQ ?
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s SimpleAddTwo X2 _1&8 &S _1d|0|&
v scanf & AIE (1)

= ofLE2 gt &8 2|

int main(void)
{
int num;
scanf("%d", &num);
}

2, 9
scanf("%d", &num);
1. 108 == AIS A} &S5

rol

A= num H0 HE

Q: printf 2} scanf AIZE 0| HE N CIE20IR?

I Seungjae Baek



JEC Qe (3/5) o

#include <stdio.h>
int main(void)
{
int result;
int numl, num2;
printf("&= one: ");
scanf("%d", &numl); /] B A 2
printf("&= two: ");
scanf("%d", &num2); // 5 YW 3 2=
Results
result=numl+num2;
printf("%d + %d = %d \n", numl, num2, result); &= one: 1
return @; B two: 2
} 1+2=3
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= O
J| B E 2lad (4/5)
s SimpleAddTwo X2 188 & 1[0/ &
v 32 =+ 288 = &= +ot= 0
Q: gt= 28 [ SM= 0| =HLI enterE
#include <stdio.h>
int main(void)
{
int result;
int numl, num2, num3;
printf("Al JHSl H= 2= "),
scanf("%d %d %d", &numl, &num2, &num3);
result = numl + num2 + num3;
printf("%d + %d + %d = %d \n", numl, num2, num3, result);
return 0;
}
Results

01245012
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Results
dote AH (1~9): 5
5*1 =25
5 * 2 =10
5 * 3 =15
5 * 4 = 20
5 *%5 =25
5 * 6 = 30
5 * 7 =35
5 * 8 = 40
5 *% 9 =45
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